
MATHS

BOOKS - PSEB

Simple Equations

Example

1. Write the following statements in the form

of equations: 

The sum of three times x and 11 is 32.

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_KqFbjFhz1E48


Watch Video Solution

2. Write the following statements in the form

of equations: 

If you subtract 5 from 6 times a number, you

get 7.

Watch Video Solution

3. Write the following statements in the form

of equations: 

https://dl.doubtnut.com/l/_KqFbjFhz1E48
https://dl.doubtnut.com/l/_iYreiVilJ1pJ
https://dl.doubtnut.com/l/_UxoYVpAsXHqg


One fourth of m is 3 more than 7.

Watch Video Solution

4. Write the following statements in the form

of equations: 

One third of a number plus 5 is 8.

Watch Video Solution

5. Convert the followingequations in

statement form: 

https://dl.doubtnut.com/l/_UxoYVpAsXHqg
https://dl.doubtnut.com/l/_9WRwq5R5lwQ3
https://dl.doubtnut.com/l/_SvSep4FWxLIl


x-5 = 9

Watch Video Solution

6. Convert the followingequations in

statement form: 

5p = 20

Watch Video Solution

7. Convert the followingequations in

statement form: 

https://dl.doubtnut.com/l/_SvSep4FWxLIl
https://dl.doubtnut.com/l/_tvQeT5d2UJ3A
https://dl.doubtnut.com/l/_wo1gG4RVO3tG


3n+7 = 1

Watch Video Solution

8. Convert the followingequations in

statement form: 

Watch Video Solution

− 2 = 6
m

5

9. Consider the following situation: 

Raju’s father’s age is 5 years more than three

https://dl.doubtnut.com/l/_wo1gG4RVO3tG
https://dl.doubtnut.com/l/_TBtaJRP8WZiU
https://dl.doubtnut.com/l/_BIp87Njnm5SD


times Raju’s age. Raju’s father is 44 years old.

Set up an equation to find Raju’s age.

Watch Video Solution

10. A shopkeeper sells mangoes in two types of

boxes, one small and one large. A large box

contains as many as 8 small boxes plus 4 loose

mangoes. Set up an equation which gives the

number of mangoes in each small box. The

number of mangoes in a large box is given to

be 100.

https://dl.doubtnut.com/l/_BIp87Njnm5SD
https://dl.doubtnut.com/l/_mWMJuawdE8oP


Watch Video Solution

11. Complete the last column of the table. 

Watch Video Solution

https://dl.doubtnut.com/l/_mWMJuawdE8oP
https://dl.doubtnut.com/l/_FEA9XDwYMhCm


12. Check whether the value given in the

brackets is a solution to the given equation or

not 

n + 5 = 19 (n = 1)

Watch Video Solution

13. Check whether the value given in the

brackets is a solution to the given equation or

not 

7n + 5 = 19 (n = – 2)

https://dl.doubtnut.com/l/_JdhOhyk7OD6s
https://dl.doubtnut.com/l/_BeO57c3rzuBi


Watch Video Solution

14. Check whether the value given in the

brackets is a solution to the given equation or

not 

7n + 5 = 19 (n = 2)

Watch Video Solution

15. Check whether the value given in the

brackets is a solution to the given equation or

https://dl.doubtnut.com/l/_BeO57c3rzuBi
https://dl.doubtnut.com/l/_Dc1f9dXtCNWO
https://dl.doubtnut.com/l/_rShUGtUZOfeA


not 

4p – 3 = 13 (p = 1)

Watch Video Solution

16. Check whether the value given in the

brackets is a solution to the given equation or

not 

4p – 3 = 13 (p = – 4)

Watch Video Solution

https://dl.doubtnut.com/l/_rShUGtUZOfeA
https://dl.doubtnut.com/l/_OEEKKBqxAdlo


17. Check whether the value given in the

brackets is a solution to the given equation or

not 

4p – 3 = 13 (p = 0)

Watch Video Solution

18. Solve the following equations by trial and

error method: 

5p + 2 = 17

Watch Video Solution

https://dl.doubtnut.com/l/_bnRNWI8NMk83
https://dl.doubtnut.com/l/_ysIz3FIIXNW5


19. Solve the following equations by trial and

error method: 

3m – 14 = 4

Watch Video Solution

20. Write equations for the following

statements: 

The sum of numbers x and 4 is 9.

Watch Video Solution

https://dl.doubtnut.com/l/_ysIz3FIIXNW5
https://dl.doubtnut.com/l/_Zv4LV87XaRdr
https://dl.doubtnut.com/l/_GZzwVOO3wDC8


21. Write equations for the following

statements: 

2 subtracted from y is 8.

Watch Video Solution

22. Write equations for the following

statements: 

Ten times a is 70.

Watch Video Solution

https://dl.doubtnut.com/l/_6kWEJbzx5U2I
https://dl.doubtnut.com/l/_VqWtXF7j7myy
https://dl.doubtnut.com/l/_dj0HvKxgvB3a


23. Write equations for the following

statements: 

The number b divided by 5 gives 6.

Watch Video Solution

24. Write equations for the following

statements: 

Three-fourth of t is 15.

Watch Video Solution

https://dl.doubtnut.com/l/_dj0HvKxgvB3a
https://dl.doubtnut.com/l/_xwtVncyEpdiV
https://dl.doubtnut.com/l/_V9xQYerrfFNX


25. Write equations for the following

statements: 

Seven times m plus 7 gets you 77.

Watch Video Solution

26. Write equations for the following

statements: 

One-fourth of a number x minus 4 gives 4.

Watch Video Solution

https://dl.doubtnut.com/l/_V9xQYerrfFNX
https://dl.doubtnut.com/l/_82ESJCBStsiZ


27. Write equations for the following

statements: 

If you take away 6 from 6 times y, you get 60.

Watch Video Solution

28. Write equations for the following

statements: 

If you add 3 to one-third of z, you get 30.

Watch Video Solution

https://dl.doubtnut.com/l/_66XoP2jBYYrO
https://dl.doubtnut.com/l/_KvPzwefAlTjW
https://dl.doubtnut.com/l/_alzdb284zovf


29. Write the following equations in statement

forms: 

p + 4 = 15

Watch Video Solution

30. Write the following equations in statement

forms: 

m – 7 = 3

Watch Video Solution

https://dl.doubtnut.com/l/_alzdb284zovf
https://dl.doubtnut.com/l/_fYP5mKGRxm1l
https://dl.doubtnut.com/l/_kvTVpGPukdHR


31. Write the following equations in statement

forms: 

2m = 7

Watch Video Solution

32. Write the following equations in statement

forms: 

Watch Video Solution

= 3
m

5

https://dl.doubtnut.com/l/_kvTVpGPukdHR
https://dl.doubtnut.com/l/_kEOPLBI0piwd


33. Write the following equations in statement

forms: 

Watch Video Solution

3 = 6
m

5

34. Write the following equations in statement

forms: 

3p + 4 = 25

Watch Video Solution

https://dl.doubtnut.com/l/_9SouGbsyxK5S
https://dl.doubtnut.com/l/_nosFMk0OnUgO
https://dl.doubtnut.com/l/_89SCcfggyyii


35. Write the following equations in statement

forms: 

4p – 2 = 18

Watch Video Solution

36. Write the following equations in statement

forms: 

Watch Video Solution

+ 2 = 8
p

2

https://dl.doubtnut.com/l/_89SCcfggyyii
https://dl.doubtnut.com/l/_BKGFmw76QoU2
https://dl.doubtnut.com/l/_adnVnYxuBGJI


37. Set up an equation in the following cases: 

Irfan says that he has 7 marbles more than five

times the marbles Parmit has. Irfan has 37

marbles. (Take m to be the number of Parmit’s

marbles.)

Watch Video Solution

38. Set up an equation in the following cases: 

Laxmi’s father is 49 years old. He is 4 years

older than three times Laxmi’s age. (Take

Laxmi’s age to be y years.)

https://dl.doubtnut.com/l/_adnVnYxuBGJI
https://dl.doubtnut.com/l/_9PKXV2QgJ3At


Watch Video Solution

39. Set up an equation in the following cases: 

The teacher tells the class that the highest

marks obtained by a student in her class is

twice the lowest marks plus 7. The highest

score is 87. (Take the lowest score to be l.)

Watch Video Solution

40. Set up an equation in the following cases: 

In an isosceles triangle, the vertex angle is

https://dl.doubtnut.com/l/_9PKXV2QgJ3At
https://dl.doubtnut.com/l/_gPSOROoreKWF
https://dl.doubtnut.com/l/_GcIil2EslQFq


twice either base angle. (Let the base angle be

b in degrees. Remember that the sum of

angles of a triangle is 180 degrees).

Watch Video Solution

41. Solve: 

3n + 7 = 25

Watch Video Solution

https://dl.doubtnut.com/l/_GcIil2EslQFq
https://dl.doubtnut.com/l/_0qvv8AsIOlVK


42. Solve: 

2p-1 = 23

Watch Video Solution

43. Give first the step you will use to separate

the variable and then solve the equation: 

x-1 = 0

Watch Video Solution

https://dl.doubtnut.com/l/_0k15TXzg3iD8
https://dl.doubtnut.com/l/_6o6RJpgmNQ5q


44. Give first the step you will use to separate

the variable and then solve the equation: 

x+1 = 0

Watch Video Solution

45. Give first the step you will use to separate

the variable and then solve the equation: 

x-1 =5

Watch Video Solution

https://dl.doubtnut.com/l/_MUu7Nuhk4L23
https://dl.doubtnut.com/l/_CTw7jVgZL00N
https://dl.doubtnut.com/l/_4b7ZVjW8vh6s


46. Give first the step you will use to separate

the variable and then solve the equation: 

x+6 = 2

Watch Video Solution

47. Give first the step you will use to separate

the variable and then solve the equation: 

y-4 = -7

Watch Video Solution

https://dl.doubtnut.com/l/_4b7ZVjW8vh6s
https://dl.doubtnut.com/l/_Wy4MYGkxUzYR
https://dl.doubtnut.com/l/_fBZCu9WjQIY3


48. Give first the step you will use to separate

the variable and then solve the equation: 

y-4 = 4

Watch Video Solution

49. Give first the step you will use to separate

the variable and then solve the equation: 

y+4 = 4

Watch Video Solution

https://dl.doubtnut.com/l/_fBZCu9WjQIY3
https://dl.doubtnut.com/l/_l5tPROfMOx1d


50. Give first the step you will use to separate

the variable and then solve the equation: 

y+4 = -4

Watch Video Solution

51. Give first the step you will use to separate

the variable and then solve the equation: 

3l= 42

Watch Video Solution

https://dl.doubtnut.com/l/_sZsBGGJg8hqe
https://dl.doubtnut.com/l/_MjyYjHYzsEKt
https://dl.doubtnut.com/l/_glMBvOE5ttJ5


52. Give first the step you will use to separate

the variable and then solve the equation: 

Watch Video Solution

= 6
b

2

53. Give first the step you will use to separate

the variable and then solve the equation: 

Watch Video Solution

= 4
p

7

https://dl.doubtnut.com/l/_glMBvOE5ttJ5
https://dl.doubtnut.com/l/_6hYV0ZVyOfd2
https://dl.doubtnut.com/l/_MxMuabpoyXf2


54. Give first the step you will use to separate

the variable and then solve the equation: 

4x = 25

Watch Video Solution

55. Give first the step you will use to separate

the variable and then solve the equation: 

8y = 36

Watch Video Solution

https://dl.doubtnut.com/l/_MxMuabpoyXf2
https://dl.doubtnut.com/l/_Imra4Cp5L0Ez


56. Give first the step you will use to separate

the variable and then solve the equation: 

Watch Video Solution

=
z

3

5

4

57. Give first the step you will use to separate

the variable and then solve the equation: 

Watch Video Solution

=
a

5

7

15

https://dl.doubtnut.com/l/_U9P97Bdz1ZsI
https://dl.doubtnut.com/l/_9j7ajGU2y7ux
https://dl.doubtnut.com/l/_oiOL6Mbm7Ys9


58. Give first the step you will use to separate

the variable and then solve the equation: 

20t = -10

Watch Video Solution

59. Give the steps you will use to separate the

variable and then solve the equation: 

3n-2 = 46

Watch Video Solution

https://dl.doubtnut.com/l/_oiOL6Mbm7Ys9
https://dl.doubtnut.com/l/_VxmOOX3MxVTF
https://dl.doubtnut.com/l/_EV7lFh9A8r2b


60. Give the steps you will use to separate the

variable and then solve the equation: 

5m+7 = 17

Watch Video Solution

61. Give the steps you will use to separate the

variable and then solve the equation: 

Watch Video Solution

= 40
20p

3

https://dl.doubtnut.com/l/_EV7lFh9A8r2b
https://dl.doubtnut.com/l/_8A55t5yDF8BP


62. Give the steps you will use to separate the

variable and then solve the equation: 

Watch Video Solution

3 = 6
p

10

63. Solve the following equations: 

10p = 100

Watch Video Solution

https://dl.doubtnut.com/l/_9S4ZYR6yLopc
https://dl.doubtnut.com/l/_fUUK02F5SOjb


64. Solve the following equations: 

10p + 10 = 100

Watch Video Solution

65. Solve the following equations: 

Watch Video Solution

= 5
p

4

https://dl.doubtnut.com/l/_hIrl8R3QpEbz
https://dl.doubtnut.com/l/_6ZHEmtUcUkrx


66. Solve the following equations: 

Watch Video Solution

− = 5
p

3

67. Solve the following equations: 

Watch Video Solution

= 6
3p

4

https://dl.doubtnut.com/l/_IFGVhOr1XZJT
https://dl.doubtnut.com/l/_6K9BGJoXDSJZ


68. Solve the following equations: 

3s = –9

Watch Video Solution

69. Solve the following equations: 

3s + 12 = 0

Watch Video Solution

https://dl.doubtnut.com/l/_vBoeerRUmcak
https://dl.doubtnut.com/l/_u2bBY0G5SPZk


70. Solve the following equations: 

3s = 0

Watch Video Solution

71. Solve the following equations: 

2q = 6

Watch Video Solution

https://dl.doubtnut.com/l/_HOnVZk4UfBHg
https://dl.doubtnut.com/l/_at9JLA63vnIN


72. Solve the following equations: 

2q – 6 = 0

Watch Video Solution

73. Solve the following equations: 

2q + 6 = 0

Watch Video Solution

https://dl.doubtnut.com/l/_BGgGXLO4e9cF
https://dl.doubtnut.com/l/_ezED5peTWHtp


74. Solve the following equations: 

2q + 6 = 12

Watch Video Solution

75. Solve : 

12p-5 = 25

Watch Video Solution

https://dl.doubtnut.com/l/_KnAiK5x8ANN1
https://dl.doubtnut.com/l/_xo51klgCec9x


76. Solve 

4(m+3) = 18

Watch Video Solution

77. Solve 

-2(x+3) = 8

Watch Video Solution

https://dl.doubtnut.com/l/_LeSZYZknMfQ7
https://dl.doubtnut.com/l/_E9RzVBwRV6ub


78. Solve the following equations: 

Watch Video Solution

2y + =
5

2

37

2

79. Solve the following equations: 

5t + 28 = 10

Watch Video Solution

https://dl.doubtnut.com/l/_inJGW2fcSSGk
https://dl.doubtnut.com/l/_5kCmSj8QIFDQ


80. Solve the following equations: 

Watch Video Solution

+ 3 = 2
a

5

81. Solve the following equations: 

Watch Video Solution

+ 7 = 5
q

4

https://dl.doubtnut.com/l/_OD6ImFhk64hD
https://dl.doubtnut.com/l/_9Ozm1o3gmcnK


82. Solve the following equations: 

Watch Video Solution

x = − 10
5

2

83. Solve the following equations: 

Watch Video Solution

x =
5

2

25

4

https://dl.doubtnut.com/l/_AeUDWllSM3pT
https://dl.doubtnut.com/l/_oz6RmqzUaTDZ


84. Solve the following equations: 

Watch Video Solution

7m + = 13
19

2

85. Solve the following equations: 

6z + 10 = –2

Watch Video Solution

https://dl.doubtnut.com/l/_tfHY7vJ8Ke70
https://dl.doubtnut.com/l/_XhqvFoxc1LUS


86. Solve the following equations: 

Watch Video Solution

=
3l

2

2

3

87. Solve the following equations: 

Watch Video Solution

− 5 = 3
2b

3

https://dl.doubtnut.com/l/_R6RE7AzoKDiJ
https://dl.doubtnut.com/l/_jYdTXcxtSAB9


88. Solve the following equations: 

2(x + 4) = 12

Watch Video Solution

89. Solve the following equations: 

3(n – 5) = 21

Watch Video Solution

https://dl.doubtnut.com/l/_aU6d6kGKKFsO
https://dl.doubtnut.com/l/_GO5tmTmn92g8


90. Solve the following equations: 

3(n – 5) = – 21

Watch Video Solution

91. Solve the following equations: 

– 4(2 + x) = 8

Watch Video Solution

https://dl.doubtnut.com/l/_e3M13qETqnhP
https://dl.doubtnut.com/l/_iO8IHW9qe81f


92. Solve the following equations: 

4(2 – x) = 8

Watch Video Solution

93. Solve the following equations: 

4 = 5(p – 2)

Watch Video Solution

https://dl.doubtnut.com/l/_hTPfVi5KXrKk
https://dl.doubtnut.com/l/_QoDiVBcgoZPl


94. Solve the following equations: 

– 4 = 5(p – 2)

Watch Video Solution

95. Solve the following equations: 

16 = 4 + 3(t + 2)

Watch Video Solution

https://dl.doubtnut.com/l/_olLgpE0ZDDTB
https://dl.doubtnut.com/l/_G3CDp7h8WCgx


96. Solve the following equations: 

4 + 5(p – 1) =34

Watch Video Solution

97. Solve the following equations: 

0 = 16 + 4(m – 6)

Watch Video Solution

98. Construct 3 equations starting with x = 2

https://dl.doubtnut.com/l/_fDelRaFocRmx
https://dl.doubtnut.com/l/_aXMy2sZkpq0D
https://dl.doubtnut.com/l/_XYQFjgrM7oue


Watch Video Solution

99. Construct 3 equations starting with x = – 2

Watch Video Solution

100. The sum of three times a number and 11 is

32. Find the number.

Watch Video Solution

https://dl.doubtnut.com/l/_XYQFjgrM7oue
https://dl.doubtnut.com/l/_G6r4mju2ZwsO
https://dl.doubtnut.com/l/_ChETLjoxSJ8L


101. Find a number, such that one-fourth of the

number is 3 more than 7.

Watch Video Solution

102. Raju’s father’s age is 5 years more than

three times Raju’s age. Find Raju’s age, if his

father is 44 years old.

Watch Video Solution

https://dl.doubtnut.com/l/_WTgWUCqxgJvP
https://dl.doubtnut.com/l/_HzEbadytC5pe


103. Set up equations and solve them to find

the unknown numbers in the following cases: 

Add 4 to eight times a number, you get 60.

Watch Video Solution

104. Set up equations and solve them to find

the unknown numbers in the following cases: 

One-fifth of a number minus 4 gives 3.

Watch Video Solution

https://dl.doubtnut.com/l/_MxhZg3jgYaWb
https://dl.doubtnut.com/l/_UrAZP1mlG67r
https://dl.doubtnut.com/l/_zgjQucph3oP7


105. Set up equations and solve them to find

the unknown numbers in the following cases: 

If I take three-fourths of a number and add 3

to it, I get 21.

Watch Video Solution

106. Set up equations and solve them to find

the unknown numbers in the following cases: 

When I subtracted 11 from twice a number, the

result was 15.

Watch Video Solution

https://dl.doubtnut.com/l/_zgjQucph3oP7
https://dl.doubtnut.com/l/_1RZsx7NJlikp


107. Set up equations and solve them to find

the unknown numbers in the following cases: 

Munna subtracts thrice the number of

notebooks he has from 50, he finds the result

to be 8.

Watch Video Solution

108. Set up equations and solve them to find

the unknown numbers in the following cases: 

https://dl.doubtnut.com/l/_1RZsx7NJlikp
https://dl.doubtnut.com/l/_EWOhOUONYmzh
https://dl.doubtnut.com/l/_51VezgiNpDAJ


Ibenhal thinks of a number. If she adds 19 to it

and divides the sum by 5, she will get 8.

Watch Video Solution

109. Set up equations and solve them to find

the unknown numbers in the following cases: 

Anwar thinks of a number. If he takes away 7

from of the number, the result is 23

Watch Video Solution

5

2

https://dl.doubtnut.com/l/_51VezgiNpDAJ
https://dl.doubtnut.com/l/_QiI3Xz3wGe6N


110. Solve the following: 

The teacher tells the class that the highest

marks obtained by a student in her class is

twice the lowest marks plus 7. The highest

score is 87. What is the lowest score?

Watch Video Solution

111. Solve the following: 

In an isosceles triangle, the base angles are

equal. The vertex angle is . What are the40
∘

https://dl.doubtnut.com/l/_L7L5E6BYtdXZ
https://dl.doubtnut.com/l/_Xfc3msgKvDG9


base angles of the triangle? (Remember, the

sum of three angles of a triangle is ).

Watch Video Solution

180
∘

112. Solve the following: 

Sachin scored twice as many runs as Rahul.

Together, their runs fell two short of a double

century. How many runs did each one score?

Watch Video Solution

https://dl.doubtnut.com/l/_Xfc3msgKvDG9
https://dl.doubtnut.com/l/_EQqSBmrnKJjY


113. Solve the following: 

Irfan says that he has 7 marbles more than five

times the marbles Parmit has. Irfan has 37

marbles. How many marbles does Parmit have?

Watch Video Solution

114. Set up an equation in the following cases: 

Laxmi’s father is 49 years old. He is 4 years

older than three times Laxmi’s age. (Take

Laxmi’s age to be y years.)

https://dl.doubtnut.com/l/_bGEqrsetLh7V
https://dl.doubtnut.com/l/_CxqvgKmQAjQi


Watch Video Solution

115. Solve the following: 

People of Sundargram planted trees in the

village garden. Some of the trees were fruit

trees. The number of non-fruit trees were two

more than three times the number of fruit

trees. What was the number of fruit trees

planted if the number of non-fruit trees

planted was 77?

Watch Video Solution

https://dl.doubtnut.com/l/_CxqvgKmQAjQi
https://dl.doubtnut.com/l/_aB3DiDzLz9cl
https://dl.doubtnut.com/l/_GM1Wwx2ulHZI


116. Solve the following riddle: 

I am a number, 

Tell my identity! 

Take me seven times over 

And add a fifty! 

To reach a triple century 

You still need forty!

Watch Video Solution

https://dl.doubtnut.com/l/_GM1Wwx2ulHZI

